Foundations of Algebra Unit 4: Equations & Inequalities Notes

‘ Day 7 - Solving Inequalities

An inequality is a statement that that compares two quantities. The quontities being compared use one of the
following signs:
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When reading an inequality, you always to want to read from the variable. Transiate the following inequdlities
into words:
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.’\en graphing an inequality on a number line, you must pay attention to the sign of the inequality.
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Reminder: Negative numbers get smaller and smaller the farther away from zero.
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(The line continues left and right forever.)
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Solutions to Inequalities .
A solution to an inequdlity is any number that mokes the nequalty true
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Solving and Graphing Linear Inequalities

Solving linear inequalities is very similar to solving equations, but there is one minor difference. See if you can l.
figure it out below:
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3. Multiply both sides by -3. What is your new inequality? 4. Divide both sides by -3. What is your new inequality?
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Practice: Solve each Inequality and graph.
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